Quiz #3 – CS 474 – February 2, 2006   - Section 1
Name ______________________

1.  In a relation __________________________ .

a.)
entities in a column vary as to kind

b.)
the order of the columns is important

c.)
the order of the rows is unimportant

d.)
more than one column can use the same name

e.)
All of the above.

2.   A relation is also known as a(n) ________________________ .

a.)
table

b.)
tuple

c.)
relationship

d.)
attribute

e.)
field

3.   Saying that two entities are functionally dependent means that _______________________ .


a.)
the entities are always connected by a mathematical equation

b.)
for one of the entities, if we are given the value of that entity, we can determine the value of one other entity

c.)
for both of the entities, if we are given the value of that entity, we can determine the value of one other entity

d.)
the functional dependency will have to be removed through normalization

e.)
all of the above are true.

4.    Given the functional dependency (D, A) ( C, (D,A) is a(n)  _____________________.


a.)
independent variable


b.)
determinant

              c.)          dependent variable


d.)
composite determinant


e.)
b and d

5.   Given the functional dependency (D, B) ( C, then _____________________.


a.)
D ( B


b.)
C ( D,B


c.)
B ( D


d.)
B ( C


e.)
None of the above is correct.

6.  A combination of one or more columns used to identify particular rows in a relation

is a(n) _____________________________ .


a.)
record


b.)
field


c.)
key


d.)
tuple

e.)
dependency

7.  A SQL numeric data type is  _________________  

8.   It is possible to have a relation that does not have a key.  (true, false)         

9.  A relation is a three-dimensional table.  (true,  false)

